CH.3 3-6 Graphing Name:

5) Suppose f ’(x) <0 for all x in the interval

In Exercises 1—-4, match the graph of f in the left column with
that of its derivative in the right column.

Greaph of f Groph ofs" (2.8). Explain why £(3)> £(5).
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Sketch each graph (Label the maximum, minimum and inflection points)
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Note all relevant properties of f and sketch the graph (Label the maximum, minimum and inflection points)
7 f(x)=8x"—4x"
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Note all relevant properties of f and sketch the graph (Label the maximum, minimum and inflection points)
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